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QUESTION 1

A user inquires about why a text search is taking so long on some applications\\' Long Description fields. Why is this
happening?

A. A different operating system is being used which adds overhead to transactions with the application server.
B. The search string is longer than 256 characters which is larger than the text field, and the search is getting cutoff.

C. A leading wildcard character in the text search string is being used which does not allow the use of the full text
search catalog.

D. The browser\\'s language is different than IBM Maximo Asset Management base language and has characters that
are unique to the language set.

Correct Answer: C

QUESTION 2

Which operating system(s) are supported for the IBM Maximo Asset Management V7.5 installation on the administrative
workstation?

A. Windows

B. Windows and AlX

C. Windows and Linux

D. Windows, AlX, and Linux

Correct Answer: A

QUESTION 3

There are several heap dump files visible when reviewing a customer\\'s J2EE server system. Why?
A. The Java heap has had several large memory objects.

B. The Java heap has experienced memory fragmentation.

C. The Java heap has experienced excessive compaction time.

D. The Java heap has experienced an out of memory condition.

Correct Answer: D

QUESTION 4

What is a proper method for temporarily disabling the Windows firewall for the IBM Maximo Asset Management V7.5
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Installer?

A. disable the feature in Windows Services

B. disable the Windows Networking Service

C. reboot the Windows Server in Safe Mode

D. right-click the Windows Firewall icon and select Shut Down

Correct Answer: A

QUESTION 5

Which statement correctly describes the Java heap?

A. the size of the application\\'s executable code

B. the transaction history of the Java application

C. Java class files and system objects used by the application

D. memory allocated within a Java Virtual Machine for the creation and use of objects

Correct Answer: D
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